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QUESTION 1

File locking for a CIFS client is __________. 

A. advisory 

B. mandatory 

C. ordered 

D. optional 

Correct Answer: B 

 

QUESTION 2

Which two commands can be used to enable LUN reservations? (Choose two.) 

A. lun create 

B. fcp -r  

C. lun set reservation 

D. iscsi -r  

Correct Answer: AC 

 

QUESTION 3

You use junctions to join volumes to what? 

A. UNIX clients 

B. A namespace 

C. A Storage Virtual Machine (SVM) 

D. CIFS clients 

Correct Answer: B 

 

QUESTION 4

What is the function of initiator groups? 

A. Initiator groups mask LUNs to a set of initiators. 

B. Initiator groups control which initiators can connect to the storage controller. 
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C. Initiator groups limit the target ports through which a LUN can be accessed. 

D. Initiator groups manage initiators of the same host type. 

Correct Answer: A 

 

QUESTION 5

Which two are benefits of storage virtualization? (Choose two) 

A. Storage virtualization the server cost 

B. Storage virtualization lower the TCO (operational and management cost) 

C. Storage virtualization allows multiple operating systems and applications to run on a single system 

D. Storage virtualization can allow storage resources to be logically pooled managed 

Correct Answer: BC 
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